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Sottrazione (orizzontale) Nome:
Risolvi ogni problema. Risposte
1
1) 875 - 1 =
2.
2 3.184 - 1 = 3
4,
3 68 - 42 =
5.
4 92 - 9 = o
7.
5 46 - 6 = g
9.
6) 8.878 - 564 =
10.
) 777 - 458 = 11.
12.
8 4.849 - 44 =
9 192 - 65 =
10) 8.691 - 8.325 =
11) 278 - 73 =
12) 756 - 6 =
. 1-10 | 9283 75|67 [58[50] 4233|2517 |
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ﬂh Sottrazione (orizzontale) Nome:

Soluzioni

Risolvi ogni problema. Risposte

1 874
1) 875 - 1 = 874

2 3.183
2) 3.184 - 1 = 3.183 3. 26

4, 83
3 68 - 42 = 26

5, 40
4 92 - 9 = 83 6. 8.314

7 319
5 46 - 6 = 40 o 4.805

9 127
6) 8.878 - 564 = 8.314

10. 366
7 777 - 458 = 319 1. 205

1. 750

8 4.849 - 44 = 4.805

9 192 - 65 = 127
10 8.691 - 8.325 = 366
11) 278 - 73 = 205
12) 756 - 6 = 750
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Sottrazione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

40 319 4.805 8.314 26
3.183 83 127 366 874 1.
2.
1) 875 - 1 =
3.
4,
2 3.184 - 1 =
5,
3 68 - 42 = o
7.
4 92 - 9 = 8.
9.
) 46 - 6 = 10.
6) 8.878 - 564 =
) 777 - 458 =
8 4.849 - 44 =
9 192 - 65 =
10) 8.691 - 8.325 =
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